Name: _______________________________					Calculus 12

Intermediate Value Theorem
Assignment
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Answers:	1) D	2) B	3) D	4) B	5) C	6) C	7) B	8) D
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f(z)

Between which of the following values does the equation f(x) = 0 have solutions?

A One solution between x = 0 and B One solution between x = 1 and
x=1 x=2

C One solution between x = 1 and D One solution between x = 2 and
x = 2 and another solution between x=3

x=2andx=3
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How many zeros does f(x) = 55x> - 60x% + 20x - 2 have between x = 0 and x = 0.6?

‘A 0 HBI
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Between which of the following two values does the equation 3x3 + 5x - 11 = 0 have a solution?

‘ A Between -2 and -1 ’ ‘ B Between -1 and 0

‘ C BetweenOand 1 ’ ‘ D Between 1 and 2
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Between which of the following two values does the equation -5x*+ 6x% + 1 = 0 have one of its
solutions?

‘A -3and -2 HB 2and-1

‘C -1and 0 HD 0and 1
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Between which of the following two values does the equation -7x3 +20x% - x + 1 = 0 have a solution?

‘A -1and 0 HB 0and 1

‘C land2 HD 2and3
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Between which of the following two values does the equation X3 - 7x - 1 = 0 have a solution?

‘ A -03and-02 HB -0.2 and -0.1

‘C -0.1and 0 HD 0and 0.1
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Between which of the following two values does the equation -2x3+ 5x — 5 = 0 have a solution?

‘ A Between -4 and -3 ’ ‘ B Between -3 and -2

‘ C Between -2 and -1 ’ ‘ D Between -1 and 0
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Between which of the following two values does the equation 23+ 7x%2-3=0
NOT have a solution?

‘ A Between -1 and 0 ’ ‘ B Between0and 1

‘ C Between 1 and 2 ’ ‘ D Between 2 and 4





